- The Fundamental Theorem of Calculus - Homework
Find the value of the definite integrals below, A 3
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[ £Q4 Show that the Second Fundamental Theorem of Caleulus holds for F{x) = f = dt. Take the integral,
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then take the derivative.
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17%; Use the Second Pundamental Theorem of Calculus to find the detivatives of the following functions,

X

D f=[(e+1) SRR SRy N

1 ~1

J&)= (&) 3Wm:4ﬁ+1\

o) gx)= ‘Zl-:-lt“ dr dy f{x)= ?cos(rz) dt
Y0 T = c0s6Y)(2R) Acos ()

X
(5. Find the interval on which the curve y = f (13 +1 4+ I) dt is concave up. Justify your answer.
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